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= A 3t 6,853,350 6,482,050 371,300
2 14,300 0 14,300
= 50,000 0 50,000
Al 6,789,050 6,482,050 307,000
SATANE L OHL(RELXANL /XA LT Al 6,761,578 6,390,278 371,300
2 14,300 0 14,300
< 50,000 0 50,000
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201 2Bt | 7,000 0 7,000
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01 A& HI 19,784 0 19,784
O MES S3t9 Hel etliz2ter "M 4X
20,000,000 = 98.92/100 19,784 0 19,784
=) 19,784 0 19,784
03 AlE 2 THHI 216 0 216
O ANXS S3t2 Hel etuiz2te Mz &X
20,000,000 * 1.08/100 216 0 216
< 216 0 216
AMES s35t2 Hel =FHet ExSAt 10,000 0 10,000
< 10,000 0 10,000
401 Al I 28I 10,000 0 10,000
< 10,000 0 10,000
01 A& HI 9,892 0 9,892
O ANHS S5 Hel =495 B
10,000,000 * 98.92/100 9,892 0 9,892
& 9,892 0 9,892
03 Al 2 THHI 108 0 108
O ANH¥S S5t Hel =495 B
10,000,000 = 1.08/100 108 108
=) 108 108




